QUIZ - Finding Trigonometric Values and Solving Basic Trigonometric Equations

(1) Find the following Trig Values, exactly (you really need to work on getting quick at these)

/i, sin(77/6)= '/2 cos(57r/ 3) = \/L _I§

-V3
—\——\ tan(77 /4) = - tan(117z/ 6) = /3 +\
= 7

sin(—27 /3) =

= cos(m)=

(2) Solve the following equations for the given restriction on t. (If no restriction is given, find all solutions)

(a) Solve: cos(t)_ %‘ t. %-qTr+ ZT(.LII K l'\"*r

b) Solve: sin(¢) :% for 0<¢t<2rm % t —_ﬂ}@ )
6%( "T 137
c) Solve: tan(t)—? for 0<t<4rm t [
3Tr
(d) Solve: sin(¢)=—1 @‘ T= = +2"‘TL- Kln*ﬁgo/

(3). Mixed Problems: Find the value or Solve the equation 0 <t <27
(a). tan(57/3) (b). sin(t)=—3/2 (©). tan(z) (). cos(t)=1
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